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degree in x of
X
/O (5t3 + 2t — 1) dt

(a) 2

(b) 3

(c) 4

(d) none of the above
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degree in n of
n

Y (557 + 25 — 1)

j=1

(a) 2

(b) 3

(c) 4

(d) none of the above
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R v > ™
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%[/Om(St?’—l—%—l)dt

(b) 523 4+ 22— 1

()53 +2t—1

(d) none of the above
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R Vv > ™
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(a)5n3 +2n—1

(b) 5(n+ 1)2n?

2 Fn(n4+1) —n

3 (557 + 25 — 1)
=1

(©)5(n+1)3+2(n+1) -1

(d) none of the above
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XL
/ COSt dt]
1

(a) —coszx

(b) (sinl) — (sinx)

(c) cosx

(d) none of the above
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R v > ™
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1
— / costdt
£

(a) —coszx

(b) (sinl) — (sinx)
(c) cosx

(d) none of the above
0% 0% 0% 0%

R v > ™
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42

o . U T P dt}

() = [(F@®) ~ (F@?)

(b) =+~ [(F@))® ~ (F@))?

(©) = [(FE™)(5e*) — (F(22))(20)]

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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. W
FI(t) = = [(F@®) ~ (F@E2)

(@) (F'(z*))(52*) — (F'(z?))(2x)

(b) (F(2°))(52%) — (F(2?))(2x)
(C) (F'(z°)) — (F'(2?))

(d) none of the above
0% 0% 0% 0%
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nth midpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

~ [1 (/n)—(1/(2n
© & Bl

3

(c) Z [ Hl+(3/n) (1/m)]

(d) none of the above
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n—1

(a) Z F] [(2 + (4j/n))5] nth left endpt Riem. sum
7=0 n 6 .
for/2 x> dx

(b) X || [@+ @i/n) — (4/m)°)
j=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above
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(a) nil F] [(2 + (4j/n))5] nth midpt Riem. sum
j=0 "

6
for z° dx
n—1 4 /2
(b) X || [@+ @i/n) — (4/m)°)
j=0
1

(©) X [} [+ @im + @@y
=0

n
J

(d) none of the above
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LOOK BACK (RELATED RATES)

A 25 ft ladder is leaning against a vertical wall.
The floor is slightly slippery and the foot of
the ladder slips away from the wall at a rate of
0.2 in/sec. How fast is the top of the ladder
sliding down the wall when the top is 20 ft
above the floor?

oy
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LOOK AHEAD

Integration by substitution
Area in a circle

Volume in a sphere
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